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1. ‘forsfifaen’ =1 a1ef 6. TSR T HEl Al faveor @
(a) S T =1 () AQA AT ATI A
(b) e 1 T=1 (b) | & QA M A 3q A
(c) TRITHR I T=1 © @a@=LIq
(d) Foet =B (d I3 A
2. 'S TR A A - A A g g wmg e w o S8
o 1 SR B2 = 3
(@) SRS (b) iz (2) gE-vIfT # Wi & garg o
(c) "I (d) JepTfeTh

(b) ST T heAH F T

(c) WUR & g@-TYfg hl 9&H & TIA |

(d) Tt rerEnstt & 9w H =% o
8. Yl & SIHR wHifqs Tered

(a) GG 2 Fohd & 3R 3 T Hehd ©

3. ‘8 Hehdl B o€ 0 B9 @
(a) A= adam (b) HfEy HE
(c) H¥A HM (d) 3Tqul I
4. Frfofad & qem-agwd &1 5 TH €

(a) TA-T@d
(b) T (b) A R T T §
(c) 'IK?—,]‘—TP[H (C)‘TH@QW%@T‘IW
(d) rEaTIE-3E (d) 9@ T "ehd € fohq ors et
YT W& 5 W 9 & fed: 9. wifaen weiel & wfd sl w1 vaa st €
SHifared Tenst i SN | Ufed 9o W "em 5 (a) WA HEOM H1 HROT
¥ 9 & IV W TN % MR W IS (b) T g T
Wehfd 3 Hie Sfted i wgd Wl S €, fohq e N

1 AHE STI Sed-ha | 81 g8 g 1 ge-9d9is )
TR O B T W IHH! Sfed S S @I Rl 39 (d) AT 3@ BT FHROT

Sfeaa ® FRO HAR H uA-faeR, w@ew-wwregm, 10, TEd T H #e Si-HeTe w1 we et §
e FegaH gt gE-wifd #1 = 9 wd €, g (a) SR @

€ UHed & 8 W HI, He-ORfush & HqH § ol
I, Uuehdl S H fiderar w1 wE W@d g1 fagE @

(b) ST T AT IS

o # for 9ar o g@ %1 unl 2 enerdem) fhq wre (c) ST BT TE HT

Tq T Rl o) e e ¥, g fowe w1 wifta (d) ST 1 GEETA

T e ge @ B URUTHagE % GONR ° gudl W@ el (1. ‘e’ &7 ot TE 6

ACHETH T AN IO H ogd T B, SHH! SUREA () FEs T A8 (b) <wRE B

frdt ot &1 ¥ &9 T2 B st fawt w1 @ &

erEan B wifaes il & ufa ghsai &1 gaer SRy (c) et (d) sram, forer, fore
T gl BT e O T T ¥ Susieerd wepfy 12, FEfated | 9 W@ gm o g

% Thefld W 98 RNl didl § ol eldl S @l 81 9 (a) TTer=T-aedt (b) STHEHT-ThTRET

et feafa § =g @M srav @ fF A i e gE () FHe-FT (d) TE-ga

T T 13 frfeay 3 % v 4 o v
fier & wagE u-Hufd, o1 died w1 g, 9 & AT FA @7

TR YA S T A 2 (a) ST (b) Treeem
5. SCHHIH T q9d B (c) AR (d) smmEA
(a) STOT o W fEEm 14. FEYUl Hid ‘FOME' W Y= & aiferil § 9
(b) 1o sreet w1 frEee g aeft § foret wh 272
(c) 3T T HT FHTOT (a) @S el | (b) eTaht are H
(d) zf=al & fawa & fa st W Goama (c) o arelt | (d) st arelt |
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15. ‘arsfreq’ o oo 2
(a) TR (b) STl
(c) 88 (d) HHEA
16. 9% = 1 3 § TTH Uk PG 9 ©

(a) =AY TR Y o TR 1 AR 9T
T 3T{aR gel T

(b) ST ERTE= % WITA HIE TAAR &l gal|

(c) W& % Y 9NN H =0T FHEd B

(d) IS YEA 7 E T I A H

17. ‘Serd’ 1 faeim 2
(a) Tt (b) 3TRY
(c) 3Ty (d) 3o
18. TRU-1 | GROM-2 1 T A i qen e
9 wel faskeq &1 =woA FifSA|
WHTt-1 |RUTt-2
A. Ao 1. -
B. ®I<SH 2.0
C. Heug=s 3.,
D. &S 4. ()
e
A B C D
(a) 2 1 3 4
(b) 3 2 4 1
() 1 3 2 4
(d) 3 4 2 1

19, Frefafed § ¥ 3 od aren e §
(a) I (b) =T

(c) Fo= (d) =

20. ‘T’ § frefafed o 9 wE-o |y 22
(a) S (b) ==
(c) Ifs (d) T

‘v ot fawdaeds s @ faw s W@
fore suErt &1 WA g 22

(a) =13 (b) sm

(c) 34 (d) R
frefafad § ‘Foar’ &1 w@fEmEt v

(a) Tt (b) forgar

(c) fagqe (d) e

et vz | ‘&1’ w1 %9 TH 9 fRw 9uf &
EIE I
(a) ®
(© =&

21.

22.

23.

(b) ®
(d) =

24. Fill in the blank in the given sentence by choosing
the correct option.

No sooner did she arrive they started

laughing.
(a) than (b) when
(c) then (d) that

25. Which of the following options has the correct

passive voice form of the following sentence?
'Lock up that house.'
(a) Let that house be locking up by you.
(b) Let that house lockin up by you.
(c) Let that house be locked up.

(d) Let that house being locked up.

26. Choose the appropriate meaning of the phrase "put

up with".

(a) tolerate
(b) put on a high place
(c) put clothes on
(d) keep safe

27. Which of these words is wrongly spelt?
(a)
(b)
(c)
(d)

Insturction for Question Nos. 28 to 31:
Read the following passage carefully and answer
the following question that follow:

ambition
institution
collection

transmition

When I go into a stranger's personal library, I wander
rounds the bookshelves to learn what sort of person the
stranger is and when he comes in, I feel that I known the
key to his mind and the range of his interests. A house
wihtout books is a characterless house, no matter how
rich its owner is. The rich decoration of the drawing
room and bedroom and the luxruious bathrooms tells us
that the man is wealthy but the books tell you whether
he has got a mind as well. It is not a question of maney
that we do not buy good books or maintain a library of
good books. I repeat that the books are the cheapest and
the best part of the equipment of a few dollars. Nearly
all the best literature in the world is at your command at
two dollars a volume. For 100 dollars you can het a
library of fifty books. Even if you do not read them
yourself, they are a priceless investiment for you chldren.
What delight is there like the revelation of books-the
sudden impact of master-spirit, the sense of a window
flung open to the universe? It is the adventure of the mid,
the joy of which does not pass away, that gives the
adventure of life itself beauty and fragrance

)
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28.

29.

30.

33.

34.

35.

36.
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Books are important for
(a)
(b)
()
(d)

What delight does a good book provide

the perosn only, who buys them
the coming generation
the buyer and his next generation

all citizens

(a) It tells about the character of its owner
(b) Tt helps the owner earn a lot of money
(c) It opens the window to the universe
(d) Ttis a great treasure of wealt

How can we command the best of word literature?
(a)
(b)

by establishing a huge library in our city

By purchasing a volume pricing two dollars
only

(©
(d)

By purchasing all the good book of the world
By downloading the pdf of the b books of
the world

Jfqufe (SHERl 341) Yl &9 ¥ AR b
T T FEERET H geH § FIE B 8l
I JHN T

(a) S HEEO

(b) ST FEE0

(c) AqAATRIS THTT

(d) HHE FEH9 H

q HER AW % o Th oA v 2@ @
9% TH Afd SR IH FHEdl ¢ % 98 Ted 9
Sar e fob fari <m (fosiar 2m) o et
offl I8 TH I T

(a) T8 W= F

(b) TEEAT T FHIEM I

(c) Ffeuot wee g

(d) wv= 3fe arfvmfa =t

Toh AT &1 IR Tohd H3d g¥ Th ARH T TH
Hfee ¥ HEl-SHRT A grer U i geheld
T 21" = Hfeen 36 =tk 9 forg Wb Heiferd
27

(a) & (b) Tt

(c) (d) T

aE Y W fRE " § wwa wEm ® eI
A= 1 T ol §, heeldl 8

(a) T FEHU

(b) SEETH TEITOT

(c) WIfSaeh TEIwoT

(d) STEFIHt TEywoT

31. The compound word 'master-spiri the passge means
(a) amaster of spirits
(b) the spiritual effect of a master
(¢) the controller of men
(d) the controlling spirit
32. Choose the correct indirect speech given sentence.
The doctor said to me, "Take this medicine twice

a day".
(a) The doctor told me that I sho take that
medicine twine a day

(b) The doctor said to me that I eat that medicine
twice a day
(c) The doctor asked me that I take that medicine

two times
(d) The doctor advised me to medicine twice a
day.
33. Feedback is used to effectively manage behavioour
and improve performance. It is a form of

(a) mass communication
(b) informal communication
(c) interpersonal communication

(d) group communication

34. After watching a football match between two
parallet teams, person insists that he beforehand
knew that the paritcular team (winner team) wa

going to win. This is an example of
(a) Group think
(b) Subliminal problem solving
(c) False consensus effect
(d) Hindsight bias

35. Pointing towards a person, a man said to a woman
"His mother is the only daughter of your fater".

How is the woman related to that person?
(a) Sister (b) Wife
(c) Mother (d) Daughter
36. Communication that saves time and facilitates co-
ordination in an organization is called
(a) Neutral communication
(b) Upward communication

(c) Lateral communication

(d) Downward communication

o
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. A & ®A & geel a1 KT AR o, af e
*el & o] SE-E 5 g

(a) YhaR (b) TeaR

(c) FHAR (d) HTETAR

i o & deel o, safemra Greaanet sl SR
W el W @

(a) HHISR GHTHdl

(b) HHMNT HHT

(c) 3TcHISS FHreardr

(d) STYRTATHS FHA

S ot 9gug p(x) 1 (x— 1) 3R (x—2) fawfem
fopan ST €, Yol HEY: 5 T 7 Sed @
F1 IEA TAT S p(x) B (x— 1) (x—2) ¥
fawrfera feran smem?

(@) 2x+1 (b) 2x—1
() 2x-3 (d) 2x+3
frefafad § 9 ®H Sea g@u o o Tl 82
(a) TR (b) fooh 3feeshiom
(c) ¥ FAMM¥R (d) w1 Sifeer

60 SRl & T H 9 @ fR 25 A
HUERG H 984 €, 26 F9ERTA T 96d ®©, 26
THERTA 1 Wed §, 9 A H 3R 1 Ted €, 8
SHi T SR [ Yed © a9 3 Wl o ed €1 St
(a) 21 (b) 25
(c) 30 (d) 52
afs w1 =Afed fFdt Toen w1 THYE ST
qEHE ® SMUR W HE 1 TS Il €, dl
Y HE W@

(a) YT ferar  (b) AHfas fo=m
(c) AU gHTe (d) gftesrTor g&rard
&I F T X, X, .., X B 50 W AU W
ferererl w1 AT —10 ® IR 46 @ ford T fomeEt

1 A 70 2, 99 YO ) Hem ©

(a) 40 (b) 30

() 20 (d) 10

TEEOT YishA | AT I SR 8- FHI,
HEA §

(a) =

(b) FEATITRAT

(c) fa=em

(d) vy

37.

38.

39.

40.

41.

42.

43.

44,

If the day before yesterday was Saturday, what day
will be on the day after tomorrow?

(a) Friday (b) Thursday

(¢) Wednesday (d) Tuesday
In the context of decision making personal
probabilities are commonly referred to as

(a) Social Probabillites

(b) Adjustable probabilities

(c) Subjective probabilities

(d) Non-functional probabilities
When a polynomial p(x) is divided by (x—1) and

(x-2) it leaves remainders 5 and 7 respectively.
What is the remainder when p(x) is divided by
(x-1) (x-2)?

(a) 2x+1 (b) 2x—1

(¢) 2x-3 (d) 2x +3
Which of the following is NOT an obstacle in
mindful listening?

(a) Prejudgement (b) dual perspective
(c) massage overload (d) messagecomplexity

In a survery of 60 people, it was found that 25
people rad newspaper H, 25 read newspaper T, 26
read newspaper I, 9 read both H and I,11 read both
H and T, 8 read both T and I and 3 read all the
three. The number of people, who read exactly one

newspaper, is

(a) 31 (b) 25

(c) 30 (d) 52
If a person attempt to solve a problem on the basis
of his past experience, it is called

(a) functional fixedness (b) mental set

(c) transfer effect (d) confirmation bias

The sum of deviations of a set of observations, x,,

X x_ measured from 50 is—10 and the sum of

dze’vi;ltions from 46 is 70, then the number of
obervations is

(a) 40 (b) 30

(c) 20 (d) 10
Purposely manipulating information is
communication process is called

(a) Filtering (b) Assertivencess

(¢) Deviance (d) Abstraction
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qoe €9 9 Gafyd I H1 FIT hifed

(a) 3TIY : TOE (b) ol : FeTed

(c) 3JTH : HhAdl (d) =M : WreT

fofa o o1 I_TA B =R

(a) W& faskeq 1 o

(b) wagss faskeq &1 o

(c) wifEm R fasew &1 fAumo

(d) vafera fasrea @1 o

A, B @R C gt wr %1 s 20, 30 3R 60
el & Y Tehd B1 fored Tl F A 5@ %
T F Fha €, A% 98 TF AR & B IR
C BRI HEEdl 9 hidl 872

(a) 12 (b) 15

(c) 16 (d) 18
frefafad & @ «F-@1 fedt goen & garE
?q foa =1 ol & 2

(a) s fafu (b) T T Ffe

(c) a3y (d) T
frafafed weal &1 SAUSH IEHY h IR
Faferd e THU I W hitord

Queasy, Queen, Quality, Question, Quarter

(a) Quality (b) Queasy

(¢) Quarter (d) Queen

‘URefie TF-39 ® ®7 A gOwe Hied @
AR, W &% He ofd: e €

(a) ATEATHS

ORESRERI:ED

(c) HEEHIh

(d) HEehtfereh 31d foharcHes
TR g4t ghm, 4 T

(a) R 3R o= &g 9§ fea s

(b) SYIE HILEH & IWAM 9 feon s

(c) Uush BN sfemd &9 H Uiw fohan S

(d) dchTel 9T foRam S
I '+ 1 A X, HT Y+ X HT Y
qen = w1 A g, @ Fefafe e |
¥ HiA-T T

(@) 18 +6-4x2+3=26

(b) 18+6+4-2+3=22

(c) 18-6x7+2+8=63

(d) 18x6-4+7x8=47

45.

46.

47.

48.

49.

50.

51.

52.

Chosse the pair in which words are differently
related.

(a) Crime : Punishment

(b) Judgement : Advocacy

(c) Enterprise : Success

(d) Exercise : Health
The objective of decision making should be

(a) To make the correct choice

(b) To make the best choice

(¢) To make the risky choice

(d) To make the reinforced choice

A, B and C can do a work in 20, 30 and 60 days
respectively. In how many days can A complete
the work, if he is assisted by B and C on every
third day?

(a) 12 (b) 15

(c) 16 (d) 18
Which one of the following is NOT a way of
thinking in order to solve problems?

(a) Algorithm (b) Trial and error
(c) Heuristics (d) Anagrams
By arranging the following words according to the
English dictionary, find the third word.

Queasy, Queen, Quality, Question, Quarter

(a) Quality (b) Queasy

(c) Quarter (d) Queen
According to 'Communication as mutual transaction
madel', interaction between people is

(a) interpretive

(b) interactive

(c) simultaneous

(d) simultaneously interactive
Communication will be effective, if it is

(a) delivered slowly and clearly

(b) delivered usinig appropriate media

(c) receiverd as intended by the sender

(d) received immediately

L e

If '+' means 'X', '-' means +, 'x' means '+' and '+'

means '-', then which one of the following
equations is correct?

(a) 18+6-4x%x2+3=26

(b) 18-6+4-2+3=22

() 18-6x7+2+8=63

(d) 18x6-4+7x8=47

()
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53.

54.

55.

56.

57.

58.

59.
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FISH : CLPK : : NOSE : ? ® '?' & ¥H W Tl
N

(a) KPLC (b) LKCP

(¢) KLPC (d) KRPH
= aroft 1000 wH=IRE & Ararfesd ddq &
foaRor &1 (3 H) weiRid S e

|rATfEeR A HUEET St W&
50 ¥ &H 40
51-75 120
76-100 200
101-125 300
126-150 150
151-175 100
176-200 55
201 3R At 35
21259 &Y dU1 % 125 % Haifesd ddd qH
e FHARE F1 ufdeE 2
(a) 81 (b) 66
(c) 34 (d) 19

frq ot =ehgfg &S &1 & H 1,200
IO 2 g H 1,348.32 @ SIW?

(@) 4% (b) 3%
(c) 6% (d) 5%
T THE % G<E % Hed HEmol €
(a) STETTE GO (b) WI¥Ee T
(c) T=qH FHHO (d) SeATH Ty

frafafaa tarfes & fagsi &t oA Sifs qen
& IW U Fifs

(a) 14 (b) 18

() 16 (d) 20

1 9 &L 100 9% &1 fhat Heard © St A e
4 9§ i fawfsa =1 afesk 379 4 1 i of
il

(@) 7 (b) 10

(c) 20 (d) 21

frefafed o 9 sH-9 g gaeE o gt
FU SN ST’ 1 b FER 22

(a) TG (b) I T fe
(c) TeA-TreA favemur (d) URepedar e

53.

54.

55.

56.

57.

58.

59.

The correct word in place of '?' in
FISH : CLPK : : NOSE : ? is
(a) KPLC (b) LKCP
(¢) KLPC (d) KRPH

The following table shows the distribution of
weekly salary (in ) of 1000 workers:

Weekly Salary No. of Workers
Less than 50 40
51-75 120
76-100 200
101-125 300
126-150 150
151-175 100
176-200 55
201 and above 35

The percentage of workers with weekly salary less
than and upto ¥ 125 is

(a) 81 (b) 66

(c) 34 (d) 19
At what rate of compound interest per annum will
a sum of ¥ 1,200 becomes % 1,348.32 in 2 years?

(a) 4% ®) 3%

(c) 6% (d) 5%
Communication among members of the same
group is

(a) downward communication

(b)

(c) optimum communication

(d)
Count the triangles in the following diagram and
find the correct answer.

lateral communication

upward communication

(a) 14 (b) 18

(c) 16 (d) 20
How many number from 1 to 100 are there each
of which is not only exactly divisible by 4 but also
has 4 as a digit?

(a 7 (b) 10

(c) 20 (d) 21
Which one ot the following is a version of 'divide
and conquer strategy' in problem solving?

(a) Analogy (b) Trial and error

(c) Means-end analysis (d) Hypothesis testing

)
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60.

61.

62.

63.

64.

65.

66.
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ABC T Tiyst g, fod AB =3 @l qen
BC =4 9. ZB=90°| =& AB a@ gd AC
# D W Hiaesfed &% § SR g9 # D W
i@ BC &1 E W fa=afd &l 211 q9 EC
ERE

(a) 1.8 WA, (b) 2.0 FHL

(c) 2.5 €. (d) 3.0 AL

X 1 A9 A #1 BhT e fod "wemn {3(x
+63)+ 640} T80 ™E 17 ¥ fawitsa =12

(a) 82 (b) 24

() 7 (d) 3
TS T HihA e w9 W T 990 @
(a) AN feerar & we=am 9
(b) sTfoRan fRerar & weaw 9
(c) 9= URes & WeEm |
(d) dfsran 9igea & "em |
g = @ T FeT & AR 28.5 @/, @l x

R y & A HAN: §
it AT AR
0-10 5
10-20 X
20-30 20
30-40 15
40-50 y
50-60 5
el el aRaRAl 60 ®
(@) 6,9 (b) 9,6
(¢) 7,6 (d) 8,7

g fhe sz 9 § PAINT =1 74128 fomn
ST € @R EXCEL &1 93596 § d, 5t %2 o

ACCEPT &1 &4 for@n Sam?
(a) 455978 (b) 544978
(c) 554978 (d) 733961

A @ P, Q,R, S, T, U T V 30 YR T &
™ ? 5 ol wed & & W g0 1 di
F Tl B U8 | @ P 3R Q H e i
T 10 HieX 1 e @ P e oifew @ vV
& ot ferat g0 272

(a) 42 HxX (b) 45 HiX

(c) 48 X (d) 50 =X
frefafed & 9 ®E-91 T 90E (SRedEs)
o witafera et 22
(a) AETST OTEl
(c) =R T

(b) HifEes afa:fwman
(d) TREH

60.

61.

62.

63.

64.

65.

66.

ABC is a triangle in which AB =3 cm, BC=4 cm
and ZB=90°. The circle with diamerter AB
intersects AC at D and tangent to the circle at D

intersects BC at E. Then EC is equal to
(a) 1.8cm (b) 2.0cm

(¢) 2.5cm (d) 3.0cm

What will be the minimum value of x for which
the number {3(x+63)+640} si completely divisible

by 17?

(a) 82 (b) 24

(c) 7 (d) 3
The problem solving process is essentially an
excursion through

(a) Mental fixedness

(b) Response fixedness

(c) Problem space

(d) Active Perspective

The median of the following distribution is 28.5,
the values of x and y are respectively

Class Interval Frequency
0-10 5
10-20 X
20-30 20
30-40 15
40-50 y
50-60 5
Where the total frequency is 60
(a) 6,9 (b) 9,6
() 7,6 (d) 8,7

If in a code language PAINT is written as 74128
and EXCEL as 93596, then how will ACCEPT be

written in that code?
(a) 455978 (b) 544978

(c) 554978 (d) 733961

Sevne poles P, Q, R, S, T, U and V are put in such
a way that the distance between the next two
decreaser by I metre. The distance between the first
two poles Pand Q is 10 metres. What is the distance
between first pole P and the last pole V?

(a) 42 metre (b) 45 metre

(c) 48 metre (d) 50 metre
Which one of the following is NOT included in
paralanguage?

(a) Voice quality (b) Verbal interaction

(c) Speech rate (d) Pitch

)
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67. 997 T (?) % A W fefafad § @ wE-w
SR B A I HIl 2?2

sc | 2B | 3Aa

28B 2 | 45B

7B | sa | 15C

(a) 7C (b) 10C
(c) 12C (d) 13C
68. fordl oM & Tf Ttk I W YRR G U FHH
% fau f& @<t 1 T ®ahl & 1 THHA A
B, %9 9 %A fohad TN &1 fevaehd €2
(@) 1 (b) 2
(c) 3 (d) 6
69 Fofa o % Hed ¥ SE-G/E wHUd wEl 87
1. HFe drfenshar Eifd 21
2. i ot A 7™ & Hieqq 9 319 o
oA § UR T Hhal 2
9 fST M e AT FAR FT FEI IW FT T
FHifera|
<he:
(a) o | T R
(b) Heet 2 HE B
(c) 1 3R 2 <A w&t B
(d Fd1 A2 R
70. Trefatad & & ®iA-9 Soft %1 g T8 2?2

1,8,27, 64,125, ...
(a) 256 (b) 512
(c) 729 (d) 1000
71. fA=ifRd 1 T %A | Hafeea sifsal
1. Bt 2. Tede
3.W 4. &H
5. 6. 3rE
(@) 1,2,4,6,3,5 (b) 2,4,6,1,3,5
(c) 5,4,2,6,1,3 (d 1,4,2,3,6,5

72. A a+b+c=3 @ (1—a)+(1-b)*+(1—c)*-3
(1-a) (1 —b) (1 —c) =1 M &
(a) 27 (b) 8
(c) 1 (d) 0

73. Frafafad # o @R uRadd &t g9ifaq &
T MURe dfafy sE-g &2

(b) 3TfrerEs

(d) TSGR

67. Which of the following character placed at the sign
of question mark (?) to complete the matrix?

4c | 2B | 3A
28B | ? | 45B
7B | sa | 15C
(a) 7C (b) 10C
(c) 12C (d) 13C

68. The minimum number of colours required to paint
all faces of a cube, that no two adjacent faces may

have the same colour, is
(@ 1 (b) 2
(c) 3 (d) 6
69. With reference to decision making, which

statement (s) is/ are correct?
1. Human rationality is limited.

2. Any individual can improve his decision
making through practice.

Select the correct answer using the codes given
below.

Codes.
(a) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct

(d) Neither I nor 2 is correct

70. Which one of the following is NOT a number of
the series?

1,8,27, 64,125, ...
(a) 256 (b) 512
(c) 729 (d) 1000
71. Arrange the following in correct order.
1. Chest 2. Forehead
3. Stomach 4. Ear
5. Leg 6. Chin
(a) 1,2,4,6,3,5 (b) 2,4,6,1,3,5

(¢) 5,4,2,6,1,3 (d) 1,4,2,3,6,5
72. If a+b+c=3thevalueif (I1-a)’ + (1-b)* + (1—c)?
—3(1-a) (1-b) 1<) is
(a) 27 (b) 8
(c) 1 (d) 0
73. Which one of the following is a basic method of
effecting behavioural change?
(a) Communication

(b) Recording
(c) Optimalm rest
(d) rhythmic evaluation

6)
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fordt adten o 30 faenfef=i grr wra fva 7 et
F1 e Frefafeaa anoft § fen wn B

YTk foanfefa =t W
(ot ofeawrer )
10-25 2
25-40 3
40-55 7
55-70 6
70-85 6
85-100 6
3 Afrgl 1 aga
(a) 50 (b) 52
(c) 54 (d) 55
frfafea o 9 s/@m@ & A
(a) 15 3 (b) 26 TR
(c) 14 Faw=r (d) 26 S

I X, y, z ¥FHAS Jolieh 38 YR B foh x:y =
1:23dMy:2z=3:5 a‘lﬁtr%rﬁaaﬁﬁaﬁq—m
5x - 3y+z 1 rYE HH BTI?

(a) 180 (b) 190

(c) 196 (d) 200

FE AR God 1 HaW 1 Gad i 35y
ia €

(a) HISTHE HHh

(b) FHHESIR FEITOT

(c) SIS o=

(d) grmfse gama

qest & g w1 99 it st 7= 9 fafa=
&
(a) 14,12 (b) 28,6

(c) 34,6 (d) 42,4

I & 9% Tk ge§ Hied iR Hied Uh A
¥ TF g &1 3R WS & @S 2| Hied &1
T SHE Ik W IR Ug W | WEd w1 g
forg faam o €7

(a) oo (b) fe=m

(c) I (d) <fero
‘e W T YR ©

(a) S T

(b) TeNTcHe 3Tfeerdr &1

(c) STHIT 1

(d) TfsRarar =

74.

75.

76.

77.

78.

79.

80.

In an examination the distribution of marks
obtained by 30 students is given in the follwing
table:

Marks
(Class Interval)

No. of Students

10-25

25-40

40-55

55-70

70-85

[} KeX e RN JUST I} \]

85-100
The mode of the data is
(a) 50 (b) 52
(c) 54 (d) 55
Chosse the odd one among the following.
(a) 15™ August
(b) 26" November
(¢) 14" November
(d) 26" January

If X, y, z are positive integers such that. x : y=1:

2 and y:z =3 : 5 then which one of the following
will be possible value of 5x — 3y + z?

(a) 180 (b) 190

(c) 196 (d) 200
The most frequently cited source of interpersonal
confict is

(a) Oragnizatiioanl norms

(b) Poor communication

(¢) Structural configuration

(d) Social pressure

Chosse the pair of numbers which is different from

others.
(a) 14,12 (b) 28,6
(c) 34,6 (d) 42,4

One morning after sunrise, Mohan and Sohan were
standing in a lawn with their backs towards each
other Mohan's shadow fell exactly towards left
hand side. Which direction was Sohan's face?

(a) East (b) West

(c) North (d) South
'Sleeping on a problam' is a form of

(a) Abstaction

(b) Emotional instability

(c) Incubation

(d) Passiveness

0
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af ABC T Hafgarg frys € fod AB=AC

E @R F &59: BC 3R AC W W@ fag ®

AE=AF3fe /BAE =40", @ /FBC aUR &

(a) 10° (b) 20°

(c) 25° (d) 40°

HIT (A): 9K & o I Hl T SWE &

®Y § wET T feRa S wehar 2

HIT (R): T5A1 G & JHAEREE Hag o

e T B 2

319 srfifafEa fasedi § ® IW &1 =39 Hife

(a) A (A) @ (R) & € 3 (R), (A) I
e e 2

(b) S (A) 7o (R) &1 & W (R), (A)
i I

(¢) (A) ¥ € W (R) o19cA &

d) (A) @ & Tg (R) ¥ €

‘PROFESSIONAL’ o1& &% 31ali § frfafed

9 ®E-U Th % & @A S Gehel €

(a) PASSION (b) FINAL

(c) NORMAL (d) LESSION

HeAdl, Fagdl S EENdl H1 qAan

AETAHAA F T FH & fad b7 wiwed w1

Th G HSR SEvash €7

(a) SIS R B

(b) 3TRTHR HITTAl

(c) URYE ST

(d) sideafers HITel 1

HY: F fRdl 98 TR | Fad TH ST Hl

AT SN Sl A i AR A =fed?

qeh:

. &N 399 fafq= swfEl & aeg eF ol
STl gfaequl 1 o1 & S|

1. =&l = 1 AT Sagen & 0 s
TS IS T e

ST q H HA-T/H q G 878 Fretatad

FHZ & MUR W IW |

%

(a) ol qh 1 WY

(b) S q% I F9E 2

(c) T Tk 13RI &9 &

(d) 7 dF 13T & dF 11 99 ¢

81.

82.

83.

84.

85.

If ABC is an isosceles traingle with AB = AC. E
and F are points on BC and AC respectively such
that AE = AF. If ZBAE = 40°, then FEC is equal
to

(a) 10°

(b) 20°

(c) 25°

(d) 40°
Assertion (A): Moon cannot be used as satellite
for communication.
Reason (R): Moon does not move in the equatorial
plane of the earth.
Choose your answer from the options given below.

(a) Both (A) and (R) are true and (R) is the

correct explanation of (A)

Both (A) and (R) are true but (R) is the not
correct the explanation of (A)

(¢) (A)is true but (R) is false

(d) (A) is false but (R) is true
Which one of the following word can NOT be
formed using the letters of the word
'PROFESSIONAL'"?

(a) PASSION

(b) FINAL

(c) NORMAL

(d) LESSION

In order to satisfy the psychological needs of

(b)

competence, relatedness and autonomy, an
effective repertoire of which skills are necessary?
(a) respetitive skills
(b) aggressive skills
(c) precision skills
(d) interpersonal skills
Statement: Should only one company be allowed
to run the transport system in a big city?
Arguments:
I. Yes. This will put an end to unhealthy
competition among different companies.
II. No. The travellers should be given a winder
choice of argument (s) is/are strong?
Answer with the help of codes given below:
Codes:
(a) Only agrument I is strong
(b) Only argument II is strong
(¢) Both arguments I and II are strong

(d) Neither argument I nor argument I is strong

on
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86. WHEA THIMM § HEYAAl 1 SUAN g9l ©
(a) TR BT YA S 3w fusedt
TaH uRfeafaal & fwan = en
(b) vfdagal =1 gfg 1 7™
(c) wHEAT
(d) TRt st Affedan
87. T agHH 1o fawifa wmg 9 30 fe 30 @
3g1 3R T 1500 fFHfl. R oo 7w W T
gt & o oo fawiifa wfa =i 250 Tl
W S gear §1 fwuifa wfa €
(a) 500 fe.wt./s= (b) 600 . =./4.
(c) 750 Tt =, (d) 900 fem. /4.
88. Tere forhed w1 SrgERoT fehan S &/ @72
R
w2 WA FA
HE F 9 T 2
eft e & €l
Toreene:
I &8 & 74 2
1. %o Al T4 2
. 9 & %a 2
IV. $9 %A & T
<he:
(a) o [ qen 11 s9afa &@ &
(b) weel 11 9o 111 S Efa ga &
(c) @aa 11 3R IV eF4ia 8
(d) ST ® ¥ +E T
89. TS W sidadteress Tuuyl & Hew H frfafed
4 ¥ BH-A/A FUA g T R
1. T T& OO T et T g 2
2. TF YU FHEU G3d 387 TEl e 2l
T @ T w2 B W@ F HE SW R T
Hife|
e
(a) Foe | TE
(b) Heet 2 WE ©
(c) 1 3R 2 Al @&l 2l
() T 198 2 TR

90. € TALENT T %< XEPIRX @I, @ 39
SEARCH &1 %9 e ¥ ferdi?
(a) WEDVGL (b) WFDUGL
(c) WGEVGL (d) WIEVGL

86. Use of analogy in problem solving means
(a) application of techniques that were used in
the past similar situations
(b) importance of escalation of commitment
(c) elucidating
(d) uncertainty of teachniques
87. A plane left 30 minutes later than the scheduled
time and in order to reach its destination 1500 km
away in time it has to increase its speed by 250km/h
from its usual speed.
(a) 500km/h (b) 600/h
(c) 750 km/h (d) 900 km/h
88. Which option is/are to be followed?
Statements:
Some fruits are flowers.
No flower is a boat
All boats are rivers.
Conclusion:
I. Some fruits are rivers.
II. Some rivers are boats
III. Some rivers are fruits.
IV. Some flowers are fruits.
Codes:
(a) Only I and II follow
(b) Only II and III follow
(c) Only II and IV follow
(d) None of the above
89. With reference to the interpersonal communicction
is organizations, which of the following statement
is / are correct?
1. An efficient communication is not always
effective.
2. an effective communication is not always
efficient.
Select the correct answer using the codes given
below
Codes:
(a) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct
90. Ifthe code for TALENT is XEPIRX, how will you
code SEARCH?
(a) WEDVGL
(¢) WGEVGL

(b) WFDUGL
(d) WIEVGL
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T HEE FHIEE 61 TAH &7 §

(a) Tafdredr w@ yshHU &1 Ggfera w

(b) URUR TS TR-URuRe fedd i G
T

(c) STcHhfsal wd AfAfaal w1 dgfera e

(d) Ifuron we STgfufd *i Hqfad &

I TH FARR A HT ARG dur Hiad afmt

1 U 23 : 22 @ U Al 5 Hi. W e,

fafter 94 1 =A™ B

(a) 55 .

(b) 110 #.

(c) 220 .

(d) 230 .

"SI 1 Heel T W SH YR 7 TN FHR M0

w1 Hew §

(a) BT 9

(b) S |

(c) W9 ¥

(d) woiferen 9

freferfaa § @ -9 giaey sqaatedes T

] TS T g ol 22

(a) Wa gfaey

(b) 3fa: feramerer Ufasy

(c) HFRR gfasy

(d) STEH ¥ 9 & T

it 7 T TR 16% a9 W S= ) Ak 3

T 4% HE W T BT IR 38 Ak | 5=

BT, A IH 25% N fHE g w1 wF gA

o

(a) 3225 (b) 2200

(c) %250 (d) 3220

IS FEHE H adqE SR i ®dRa fwa

i

(a) AHfaew fedqusfa o

(b) M ey o

(c) =T AHfgs gfaffue o

(d) evafer amfas gfafafaa o

frafafaa gaen § Tod 9@ A| st

7,28, 63, 124,215, 342, 511

(a) 7 (b) 28

(c) 124 (d) 215

91.
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93.

94.

95.

96.

97.

The optimal way for effective problem solving is
(a) to balance distinctiveness and processing
(b)

to balance conventional and non-
conventional thinking

(c) to balance egocentrism and biases
(d)

If the ratio of the outer and inner perimeters of a

to balance assumption and inference

circular path is 23 : 22 and the path is 5 m wide,
then the diameter of the inner circle will be

(a) 55m

(b) 110 m

(¢) 220m

(d) 230m
'Duma’ is related to Russia’ in the same way as
'Shore' is related to

(a) Afghanistan

(b) Germany

(c) France

(d) Malaysia
Which one of the following model emphasizws on
the dynamism of interpersonal communication?

(a) Linear model

(b) Interactive model

(c) Transactional model

(d) None of the above
Sonia sold an article at a gain of 16% . If she had
bought at 4% less and sold it for I8 more, she
world have gained 25%. The cost price of the
article was

(a) %225

(b) %200

(c) %250

(d) %220
In problem solving the present information is
converted into

(a) mental temperament

(b)

(c) external mental representation

(d)
Find the wrong number in the following series:
7,28, 63,124,215, 342, 511

(a) 7

(b) 28

(c) 124

(d) 215

mental background

internal mental representation

ot
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98. YSHIcHS: HHE HHIHM Hafed 2 98. Creative problem solving is associated with
(a) AfTER faa = (a) Convergent thinking
(b) TE a9 9 (b) Group think
(c) |fHT o | (c) Active listening
(d) sroEr foa 9@ (d) Divergent thinking

99, foare T¥g R S & 99. Controversy always involves
(a) Revenge

(a) FfcRIH (b) A
nger
(b) I g.
(c) Passion
() T (d) Disagreement
(d) FAT 100. What approximate percentage off individual's
100. =R & e THA T A foha gfaw@ W working hours is engaged in interpersonal
FqeaferTeh TEOU W o el 872 communication?
(a) 80-90% (a) 80-90%
(b) 60-70% (b) 60-100%
(c) 100% (c) 100%
(d) 40-50% (d) 40-50%
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